Reference: EXAM/JPP/BITIC/LALPUR/BBA-FIFTH/MO/18 / 2018-2019
By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	: 2018-2019 CLASS : BI	BA		1	BRANCH	: MAN	AGEMENT	,					SEN	IESTER / T	RIMESTE	R : FIF	ГН		M	ONTH OF EXAM	1 : NOV-	2018
ROLL NO	NAME	U L	BBA	5001(3)	BBA	5003(3)	BBA	5005(3)	BBA	5009(3)	BBA	5011(2)	BBA	5013(3)	BBA5	007(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARK
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40001/16	PARIDHI SINGHANIA	U	Ex	30.0	A+	27.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	A	24.0	-	-	177.0	20.0	8.85	-
BBA/40002/16	PRITIKA PRIYA	U	Ex	30.0	A+	27.0	A+	27.0	A+	27.0	A+	18.0	A+	27.0	B+	21.0	-		177.0	20.0	8.85	_
BBA/40003/16	CHAHAT VERMA	U	A+	27.0	A	24.0	A	24.0	B+	21.0	A	16.0	A	24.0	B+	21.0	-		157.0	20.0	7.85	
		L U	Ex	30.0	Ex	30.0	- A+	27.0	- B+	21.0	- A+	18.0	- A+	27.0	- B+	21.0		-				
BBA/40004/16	RITIKA SRIVASTAVA	L	- Ex	30.0	- Ex	30.0	- A+	27.0	-	24.0	- A+	18.0	- A+	27.0	- A	24.0	-	-	174.0	20.0	8.70	-
BBA/40005/16	AAKRITI	L	- EX	-	-	-	- A⊤		- -	-	- A <sup>+</sup>	-	A⊤ -	-	- A	-	-		180.0	20.0	9.00	-
BBA/40006/16	ANKITA SINHA	U	A+	27.0	A -	24.0	A -	24.0	B+	21.0	- A	16.0	A+	27.0	A -	24.0	-	-	163.0	20.0	8.15	-
BBA/40007/16	DIVYA JYOTI SINHA	U	A+	27.0	A+	27.0	A	24.0	B+	21.0	A	16.0	A+	27.0	B+	21.0	-		163.0	20.0	8.15	_
DD + /40000/1/	D. LV DD.W.	L U	- A+	27.0	- A+	27.0	- A	24.0	- B+	21.0	- A	16.0	- A+	27.0	- B+	21.0	-	-	1/2.0	20.0	0.15	
BBA/40008/16	RAJ PRIYA	L	- A+	27.0	- A+	27.0	- B+	21.0	- B+	21.0	-	16.0	- A+	27.0	-	24.0	-	-	163.0	20.0	8.15	-
BBA/40009/16	NAUSHIN KHAN	L	A+	-	A⊤ -	-	- B⊤	-		-	- A	-	A⊤ -	-	- A	- 24.0	-	-	163.0	20.0	8.15	
BBA/40010/16	KHUSHBOO RANI	U	A+	27.0	A+	27.0	A+	27.0	B+	21.0	A+	18.0	A+	27.0	B+	21.0	-	-	168.0	20.0	8.40	-
BBA/40011/16	AAKANSHA BAGGA	U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	B+	21.0	_		171.0	20.0	8.55	-
BBA/40012/16	SUMONA BANERJEE	U	- A+	27.0	- A+	27.0	- A	24.0	- B+	21.0	B+	14.0	A	24.0	B+	21.0	-	-	158.0	20.0	7.90	

ENTREPRENEURSHIP AND SMALL BUSINESS INTERNATIONAL TRADE & BUSINESS RETAIL MANAGEMENT STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) E-COMMERCE BBA5011(2) BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	: 2018-2019 CLASS : BB	Α		1	BRANCH	: MANA	AGEMENT						SEN	MESTER / T	RIMESTE	R : FIF	ГН		Mo	ONTH OF EXAM	: NOV-	2018
ROLL NO	NAME	U L	BBA	5001(3)	BBA	5003(3)	BBA	5005(3)	BBA	5009(3)	BBA	011(2)	BBA	5013(3)	BBAS	5007(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40107/16	SHIWANI BHATT	U	A+	27.0	B+	21.0	A	24.0	В	18.0	B+	14.0	B+	21.0	A	24.0	-	-	149.0	20.0	7.45	
BBA/40107/10	SHIWANI BHATT	L	-	-	-	-	-		-	-	-	-	-	-	-	-	-	[ - ]	149.0	20.0	7.43	-
BBA/40108/16	FARHANA AZMI	U	A+	27.0	A	24.0	B+	21.0	A	24.0	B+	14.0	A	24.0	A	24.0	-	-	158.0	20.0	7.90	
BBA/40108/10	FARHANA AZMI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	138.0	20.0	7.90	-

BBA5001(3)	: ENTREPRENEURSHIP AND SMALL BUSINESS	-	:
BBA5003(3)	: INTERNATIONAL TRADE & BUSINESS	-	:
BBA5005(3)	: RETAIL MANAGEMENT	-	:
BBA5009(3)	: STRATEGIC MANAGEMENT	-	:
BBA5011(2)	: E-COMMERCE	-	:
BBA5013(3)	: HOSPITALITY MANAGEMENT	-	:
BBA5007(3)	: PROJECT FEASIBILITY REPORT	-	:
-	:	-	

Disclaimer

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	: 2018-2019 CLASS : E	BA		1	BRANCH	: MANA	AGEMENT						SEN	MESTER / T	RIMESTE	R : FIF	TH		Me	ONTH OF EXAM	: NOV-	2018
ROLL NO	NAME	U L	BBA	5001(3)	BBA	5003(3)	BBA	5005(3)	BBA	5009(3)	BBAS	5011(2)	BBA	5013(3)	BBA	5007(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARK
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40013/16	PRIYANKA PRIYADARSHINI	U	A+	27.0	A+	27.0	A+	27.0	B+	21.0	A -	16.0	A+	27.0	B+	21.0	-	-	166.0	20.0	8.30	-
BBA/40014/16	PRITIKA VERMA	U L	Ex	30.0	Ex	30.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	A	24.0	-	Ξ	180.0	20.0	9.00	-
BBA/40015/16	RITU KUMARI MISHRA	U L	Ex	30.0	Ex	30.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	B+	21.0	-	-	177.0	20.0	8.85	-
BBA/40016/16	PRIYANKA PATHAK	U	A+	27.0	A+	27.0	A+	27.0	B+	21.0	A	16.0	A+	27.0	B+	21.0	-		166.0	20.0	8.30	-
BBA/40017/16	PRIYA SINGH	U	A+	27.0	Ex	30.0	A	24.0	A	24.0	A	16.0	A	24.0	B+	21.0			166.0	20.0	8.30	-
BBA/40018/16	ALPANA JESSICA KANDULNA	U	A+	27.0	A+	27.0	A -	24.0	В	18.0	A	16.0	A+	27.0	B+	21.0	-	-	160.0	20.0	8.00	-
BBA/40019/16	AKHOURI SHAILJA SINHA	U	A+	27.0	A	24.0	Α	24.0	B+	21.0	A	16.0	A	24.0	B+	21.0	-	-	157.0	20.0	7.85	-
BBA/40020/16	MANSI AGARWAL	U	A+	27.0	A+	27.0	A	24.0	B+	21.0	A	16.0	A	24.0	A	24.0	-	-	163.0	20.0	8.15	-
BBA/40021/16	PALLAVI JAISWAL	U	Ex	30.0	A+	27.0	A+	27.0	A	24.0	A+	18.0	A+	27.0	B+	21.0	-	-	174.0	20.0	8.70	-
BBA/40022/16	SHREYA DHAMORIKAR	U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A	16.0	A+	27.0	A	24.0		-	172.0	20.0	8.60	-
BBA/40023/16	PRAGATI KANODIA	U	A+	27.0	A	24.0	B+	21.0	B+	21.0	A	16.0	A	24.0	B+	21.0	=	-	154.0	20.0	7.70	-
BBA/40025/16	SMRITI RIA BAKHLA	U	- A+	27.0	A	24.0	A	24.0	A	24.0	A+	18.0	A+	27.0	B+	21.0	-	-	165.0	20.0	8.25	_

ENTREPRENEURSHIP AND SMALL BUSINESS INTERNATIONAL TRADE & BUSINESS RETAIL MANAGEMENT STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) E-COMMERCE BBA5011(2) BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

Reference: EXAM/JPP/BITIC/LALPUR/BBA-FIFTH/MO/18 / 2018-2019
By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	: 2018-2019 CLASS : BE	BA		1	BRANCH	: MANA	GEMENT						SEM	IESTER / T	RIMESTE	R : FIF	ГН		Me	ONTH OF EXAM	: NOV-	2018
ROLL NO	NAME	U L	BBA	5001(3)	BBA:	5003(3)	BBA	5005(3)	BBA	5009(3)	BBAS	5011(2)	BBA	5013(3)	BBA5	007(3)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARK
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40026/16	SWATI KUMARI	U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A	16.0	A+	27.0	B+	21.0	-	-	169.0	20.0	8.45	-
BBA/40027/16	VAISHNAVI JHA	U	A+	27.0	A+	27.0	A+	27.0	B+	21.0	A+	18.0	A+	27.0	B+	21.0	-	-	168.0	20.0	8.40	_
		U	- A+	27.0	- A	24.0	- A	24.0	- D	12.0	- A	16.0	- A+	27.0	- B+	21.0	-	-				
BBA/40028/16	SHARMIN ALMAS	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	_	151.0	20.0	7.55	-
BBA/40029/16	SOUMYA ANAND	L	A+ -	27.0	- A	24.0	- A	24.0	B+	21.0	- A	16.0	A+	27.0	B+	21.0	-	-	160.0	20.0	8.00	-
BBA/40031/16	SIMRAN MADANPOTRA	U	A+	27.0	B+	21.0	A	24.0	B+	21.0	A	16.0	A+	27.0	B+	21.0	-	-	157.0	20.0	7.85	-
BBA/40032/16	SHREYA AGRAWAL	U	A+	27.0	A	24.0	A	24.0	B+	21.0	A	16.0	A	24.0	A	24.0	-	-	160.0	20.0	8.00	_
		U	A+	27.0	A	24.0	A	24.0	B+	21.0	A	16.0	- A+	27.0	B+	21.0	-	-		•••		
BBA/40033/16	TISHA PANDEY	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	160.0	20.0	8.00	-
BBA/40034/16	RIYA KUMARI	L	A+	27.0	- A	24.0	A+ -	27.0	- A	24.0	- A	16.0	- A	24.0	B+	21.0	-	-	163.0	20.0	8.15	-
BBA/40035/16	GAYATRI NARSARIA	U	A+	27.0	Ex	30.0	A+	27.0	A+	27.0	A+	18.0	Ex	30.0	A	24.0	-	-	183.0	20.0	9.15	-
BBA/40037/16	MANSI ANAND	U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A	16.0	A	24.0	B+	21.0	-	-	166.0	20.0	8.30	
		L U	- A+	27.0	- В	18.0	- B+	21.0	- В	18.0	- B+	14.0	- A	24.0	- B+	21.0	-	-				
BBA/40038/16	KHUSHBOO TOPPO	L	-	-	-	-	-		-	-	-	-	-	-	-	-	-	-	143.0	20.0	7.15	-
BBA/40039/16	DULARI PRIYA HANSDA	U	A+	27.0	A	24.0	A	24.0	B+	21.0	A	16.0	A+	27.0	B+	21.0	-	-	160.0	20.0	8.00	-

ENTREPRENEURSHIP AND SMALL BUSINESS INTERNATIONAL TRADE & BUSINESS RETAIL MANAGEMENT STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) E-COMMERCE BBA5011(2) BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSIO	N : 2018-2019 CLASS :	BBA			BRANG	CH : MA	NAGEM	ENT						SEMES	TER / TRI	MESTER	: FIFT	Н		MONTH	OF EXAM	: NOV-2018
ROLL NO	NAME	U L	BBA	5001(3)		5003(3)	BBA	5005(3)		5009(3)		5011(2)		5013(3)	BBA	5007(3)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40043/16	VASAVI	U	A -	24.0	A -	24.0	A+	27.0	A+	27.0	F -	0.0	A+	27.0	B+	21.0	-	-	150.0	20.0	7.50	UNFAIR MEANS
BBA/40044/16	NEHA BHARTI	U L	A+	27.0	A	24.0	A	24.0	A	24.0	A+	18.0	A+	27.0	B+	21.0	-	-	165.0	20.0	8.25	-
BBA/40045/16	ALISHA SHREE	U	A+	27.0	A	24.0	A	24.0	A	24.0	A	16.0	A	24.0	B+	21.0	-	-	160.0	20.0	8.00	-
BBA/40046/16	SHREYA SINGH	U	A+	27.0	A+	27.0	A	24.0	A	24.0	A	16.0	A+	27.0	B+	21.0	-		166.0	20.0	8.30	-
BBA/40047/16	NISHA KUMARI	U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A	16.0	A	24.0	B+	21.0	-		166.0	20.0	8.30	-
BBA/40048/16	YAMINI	U		27.0	B+	21.0	A	24.0	A+	27.0	A	16.0	A+	27.0	B+	21.0		-	163.0	20.0	8.15	-
BBA/40049/16	CHHAVI SRISHTY	U	A+	27.0	A	24.0	A+	27.0	B+	21.0	A+	18.0	A	24.0	A	24.0	-	-	165.0	20.0	8.25	-
BBA/40050/16	SWASTIKA VERMA	U	- A+	27.0	B+	21.0	A	24.0	В	18.0	D	8.0	B+	21.0	A	24.0	-	-	143.0	20.0	7.15	-
BBA/40051/16	KUMARI RITU	U	- A+	27.0	A+	27.0	B+	21.0	A	24.0	B+	14.0	A+	27.0	B+	21.0	-	-	161.0	20.0	8.05	-
BBA/40052/16	NAVEENE RAJ	U		27.0	A	24.0	B+	21.0	A	24.0	A	16.0	A	24.0	A	24.0	-	-	160.0	20.0	8.00	-
BBA/40053/16	SOUMYA DUTTA	U		27.0	A	24.0	A	24.0	A	24.0	A	16.0	A+	27.0	B+	21.0	-	-	163.0	20.0	8.15	-
BBA/40054/16	DEEPSHIKHA	U		30.0	A+	27.0	A+	27.0	B+	21.0	A+	18.0	A+	27.0	B+	21.0	-	-	171.0	20.0	8.55	_

: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) E-COMMERCE BBA5011(2) BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	N : 2018-2019 CLASS : I	ВВА			BRANG	CH : MA	NAGEMI	ENT						SEMEST	ER / TRI	MESTER	: FIFT	Ή		MONTH	OF EXAM	: NOV-2018
ROLL NO	NAME	U L	BBA	5001(3)	BBA	5003(3)	BBA	5005(3)		5009(3)	BBA	5011(2)		5013(3)		5007(3)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		_ _	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40056/16	MANISHA MAZUMDAR	U	Ex	30.0	A+	27.0	A+	27.0	B+	21.0	A	16.0	A	24.0	B+	21.0	-		166.0	20.0	8.30	-
	1	L	-	-	-	-	-	-	- P	-		-	-	-	-	-	-	_				
BBA/40057/16	SHRADHA TEKRIWAL	L	A -	24.0	A -	24.0	A -	24.0	B -	18.0	B+	14.0	A+	27.0	A -	24.0	-	-	155.0	20.0	7.75	-
		U	A	24.0	B+	21.0	B+	21.0	В	18.0	B+	14.0	A	24.0	B+	21.0	T -	-				
BBA/40058/16	SHIVANGI SONAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	143.0	20.0	7.15	-
BBA/40059/16	SIMRAN	U	A+	27.0	A	24.0	B+	21.0	B+	21.0	F	0.0	A+	27.0	B+	21.0	- 1	-	141.0	20.0	7.05	UNFAIR MEANS
BBA/40039/10	Sivikaiv	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	141.0	20.0	7.03	ON AIK WEARS
BBA/40060/16	SHREYA PANDEY	U	A	24.0	B+	21.0	A	24.0	В	18.0	A	16.0	B+	21.0	B+	21.0	-	-	145.0	20.0	7.25	-
		L	-		-				-				-		-	-	<u> </u>	-				
BBA/40061/16	ADITI KIRAN	Ţ	A+	27.0	A+	27.0	A+	27.0	A+	27.0	A+	18.0	A+	27.0	B+	21.0			174.0	20.0	8.70	-
		11	A+	27.0	A+	27.0	A+	27.0	B+	21.0	A	16.0	A	24.0	B+	21.0		_				
BBA/40062/16	PRIYA PRASAD	T	Α+	27.0	ΑT	27.0	ΑT	27.0	В+	21.0	A	10.0	A	24.0	Вт	21.0	<u> </u>	_	163.0	20.0	8.15	-
l <del></del>		II.	A+	27.0	Δ	24.0	A	24.0	B+	21.0	A	16.0	A+	27.0	B+	21.0						
BBA/40064/16	RASHMI RANI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	╫	-	160.0	20.0	8.00	=
BBA/40065/16	AARTI PATEL	U	Ex	30.0	A+	27.0	A	24.0	A+	27.0	A	16.0	A	24.0	B+	21.0	-	-	169.0	20.0	8.45	
BBA/40003/10	AARIIPATEL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		- 1	169.0	20.0	8.43	<u>-</u>
BBA/40066/16	SONAM SINGH	U	A+	27.0	A+	27.0	A	24.0	B+	21.0	A	16.0	A+	27.0	A	24.0	- 1	-	166.0	20.0	8.30	-
		L				-			-	-	<u> </u>		-				<u>  -  </u>	-				
BBA/40068/16	NIDHI KASHYAP	U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A+	18.0	A	24.0	B+	21.0	-	-	168.0	20.0	8.40	-
	<u>                                     </u>	L	-	27.0	-	24.0	-	24.0	- D	10.0	- D:	14.0	-	24.0	- D:	21.0	╟╌╢	_		<u> </u>		
BBA/40069/16	ARISHA	L	A+ -		- A	- 24.0	- A	- 24.0	- B	18.0	B+	- 14.0	- A	- 24.0	B+	- 21.0	-	-	152.0	20.0	7.60	-

: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) E-COMMERCE BBA5011(2) BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	: 2018-2019 CLASS : I	3BA		]	BRANCH	: MAN	AGEMENT						SEN	1ESTER / T	RIMESTE	R : FIF	ГН		M	ONTH OF EXAM	: NOV-	2018
ROLL NO	NAME	U L	BBA	5001(3)	BBA	5003(3)	BBA	5005(3)		5009(3)		5011(2)		5013(3)		5007(3)			TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		ᆚᆫ	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40070/16	PUJA KUMARI	U	A	24.0	A	24.0	Α -	24.0	B+	21.0	A	16.0	A	24.0	B+	21.0	_	-	154.0	20.0	7.70	-
BBA/40071/16	KAJAL KUMARI	U	A	24.0	A+	27.0	A	24.0	B+	21.0	A	16.0	A	24.0	B+	21.0	-		157.0	20.0	7.85	_
BB10 1007 1710		L	-	-	-	-		-	-	-		-	-	-		-		-	137.0	20.0	7.05	
BBA/40072/16	PRACHI SAHAY	U	A+	27.0	A	24.0	A+	27.0	A	24.0	A -	16.0	A+	27.0	B+	21.0	-	-	166.0	20.0	8.30	-
	1	U	A+	27.0	A	24.0	A+	27.0	В	18.0	A	16.0	A+	27.0	A	24.0	-	<u> </u>				
BBA/40073/16	RIYA SRIVASTAV	L	i - i	-	-	-	-	-	-	-	-	-	-	-	ï -	-	-	1-1	163.0	20.0	8.15	-
BBA/40074/16	AKANKSHA BHARTI	U	A+	27.0	A	24.0	A	24.0	Α	24.0	Α	16.0	A	24.0	A	24.0	-	<u> </u>	163.0	20.0	8.15	_
BB10 1007 1110		L	-	-	-	-			-	-	-	-	-	-	-	-		-	100.0	20.0	0.15	
BBA/40075/16	SHIKHA KUMARI	U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A	16.0	A+	27.0	B+	21.0	_	-	169.0	20.0	8.45	-
		11	A	24.0	A	24.0	A	24.0	B+	21.0	_	16.0	A	24.0	A	24.0	_					
BBA/40076/16	SRISHTI SUKIRTI	L	- A	24.0	- A	-	- A	-	-	-	- A	-	- A	24.0	- A	24.0	-		157.0	20.0	7.85	-
		U	A+	27.0	A	24.0	Α	24.0	A	24.0	Α	16.0	A+	27.0	A	24.0	-	-				
BBA/40077/16	MONIKA	L	i - i	-	-	-	-	-	-	-	-	-	-	-	-	-	-	i -	166.0	20.0	8.30	-
BBA/40078/16	RIDDHI SINGH	U	A+	27.0	A	24.0	A	24.0	B+	21.0	Α	16.0	A+	27.0	B+	21.0	-		160.0	20.0	8.00	_
	1	L	-	-	-	-		-	-	-	-	-	-	-	-	-		-				
BBA/40079/16	NIKITA PANDEY	U L	A -	24.0	A -	24.0	A+	27.0	B	18.0	B+	14.0	B+	21.0	B+	21.0	-	-	149.0	20.0	7.45	-
BBA/40080/16	PRITI ROY	U	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	_	<u> </u>	00.0	20.0	0.00	_
BBA/40080/10	I KITI KOT	L	-	-	-	-		-	-	-	-	-	-	-	-	-	-		00.0	20.0	0.00	_
BBA/40081/16	ANJALI SINHA	U	A	24.0	B+	21.0	A	24.0	С	15.0	B+	14.0	A	24.0	B+	21.0	-	_	143.0	20.0	7.15	-

: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) E-COMMERCE BBA5011(2) BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	I : 2018-2019 CLASS :	BBA			BRANCH	: MANA	AGEMENT	,					SEM	IESTER / T	RIMESTE	R : FIF	ГН		Me	ONTH OF EXAM	: NOV-	2018
ROLL NO	NAME	U L	BBA	5001(3)	BBAS	5003(3)	BBA	5005(3)	BBA	5009(3)	BBA	011(2)	BBAS	5013(3)	BBA	5007(3)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40082/16	SHRESTHA JAIN	U L	A+	27.0	A .	24.0	A -	24.0	B+	21.0	B+	14.0	A+	27.0	A	24.0	-	-	161.0	20.0	8.05	-
BBA/40083/16	UZMA NIKHAT	U	A+	27.0	A	24.0	A	24.0	B+	21.0	B+	14.0	A	24.0	B+	21.0	-		155.0	20.0	7.75	-
BBA/40084/16	ANKITA KUMARI	U	A+	27.0	A	24.0	A	24.0	В	18.0	A	16.0	A+	27.0	B+	21.0	-		157.0	20.0	7.85	-
BBA/40085/16	RICHA SINGH	U	A+	27.0	A+	27.0	A	24.0	A	24.0	A	16.0	A+	27.0	B+	21.0	-	İ	166.0	20.0	8.30	-
BBA/40086/16	ARPITA DAS	U	Ex	30.0	A+	27.0	- A+	27.0	B+	21.0	A+	18.0	A+	27.0	A	24.0	-		174.0	20.0	8.70	
BBA/40087/16	SHREYA SINGH	U	A+	27.0	- A+	27.0	- A	24.0	B+	21.0	- A	16.0	A+	27.0	B+	21.0	_		163.0	20.0	8.15	-
BBA/40088/16	KUMARI RIMJHIM	U	B+	21.0	В	18.0	- B+	21.0	В	18.0	- B+	14.0	- B+	21.0	B+	21.0	-	-	134.0	20.0	6.70	
	KOMAKI KIMBITIM	L	- A+	27.0	- B+	21.0	- A	24.0	- B	18.0	- B+	14.0	- A	24.0	- B+	21.0	-	-				-
BBA/40089/16	APOORVA PANDEY	L	-	<u> </u>	-	-	-		-	-	-	-	-	-	-	-	_		149.0	20.0	7.45	-
BBA/40090/16	SHEETAL AGARWAL	L	- A	24.0	- A	24.0	- A	24.0	B+	21.0	- A	16.0	- A	24.0	B+	21.0	-	-	154.0	20.0	7.70	-
BBA/40091/16	SHREYA KUMARI	U	A+	27.0	A+	27.0	A+ -	27.0	A	24.0	A	16.0	A+	27.0	A	24.0	-		172.0	20.0	8.60	-
BBA/40092/16	SURABHI SINHA	U L	A+	27.0	B+	21.0	B+	21.0	D -	12.0	В -	12.0	A -	24.0	B+	21.0	-		138.0	20.0	6.90	-
BBA/40093/16	KUMARI DEEPIKA BAGTI	U	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	-		00.0	20.0	0.00	_

ENTREPRENEURSHIP AND SMALL BUSINESS INTERNATIONAL TRADE & BUSINESS RETAIL MANAGEMENT STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) E-COMMERCE BBA5011(2) BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	I : 2018-2019 CLASS :	BBA		1	BRANCH	: MANA	AGEMENT	,					SEM	MESTER / T	RIMESTE	R : FIF	ГН	-	Me	ONTH OF EXAM	: NOV-	2018
ROLL NO	NAME	U L	BBA	5001(3)	BBA	5003(3)	BBA	5005(3)	BBA	5009(3)	BBA	5011(2)	BBA	5013(3)	BBA	5007(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARK
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40094/16	GURLEEN KAUR	U L	A+	27.0	B+	21.0	A	24.0	B+	21.0	A -	16.0	A+	27.0	B+	21.0	-	-	157.0	20.0	7.85	-
BBA/40096/16	RIYA JAISWAL	U	A+	27.0	B+	21.0	A	24.0	B+	21.0	B+	14.0	A+	27.0	B+	21.0	-		155.0	20.0	7.75	-
BBA/40097/16	VAIBHAWY	U	A+	27.0	A	24.0	A	24.0	B+	21.0	A+	18.0	A	24.0	B+	21.0			159.0	20.0	7.95	-
BBA/40098/16	SRISHTI PANDEY	U	A	24.0	В	18.0	B+	21.0	C	15.0	В	12.0	B+	21.0	B+	21.0	-	-	132.0	20.0	6.60	-
BBA/40099/16	NANDANI KUMARI	U	A+	27.0	A	24.0	- A+	27.0	A	24.0	- A	16.0	- A+	27.0	- A	24.0	-	-	169.0	20.0	8.45	
BBA/40100/16	REENA KUMARI	L U	- B+	21.0	- A	24.0	- A	24.0	В	18.0	- A	16.0	B+	21.0	B+	21.0	-	-	145.0	20.0	7,25	
		L U	- B+	21.0	- В	18.0	- B+	21.0	В	18.0	- В	12.0	- B+	21.0	- B+	21.0	-	-				
BBA/40101/16	KISHANGI NIDHI	L	-	- 24.0	-	-		-	-	- 12.0	- D:	-	-	-	- D:	- 21.0	Ξ	_	132.0	20.0	6.60	-
BBA/40102/16	NEHA SINGH	L	- A	24.0	- -	15.0	- A	24.0	- D	12.0	B+ -	14.0	- -	15.0	B+	21.0	_	-	125.0	20.0	6.25	-
BBA/40103/16	ASTHA SAHU	U L	A+ -	27.0	B+	21.0	- A	24.0	- B	18.0	- A	16.0	- A	24.0	B+	21.0	_	-	151.0	20.0	7.55	-
BBA/40104/16	SHILP RANI	U	A+	27.0	A	24.0	A -	24.0	A	24.0	A -	16.0	A -	24.0	B+	21.0	-	-	160.0	20.0	8.00	-
BBA/40105/16	SHALINI PRIYA	U	В	18.0	С	15.0	В	18.0	D	12.0	С	10.0	С	15.0	B+	21.0	-	Ŀ	109.0	20.0	5.45	-
BBA/40106/16	SRISHTY	U	A	24.0	B+	21.0	B+	21.0	В	18.0	B+	14.0	A	24.0	A	24.0			146.0	20.0	7.30	-

ENTREPRENEURSHIP AND SMALL BUSINESS INTERNATIONAL TRADE & BUSINESS RETAIL MANAGEMENT STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) E-COMMERCE BBA5011(2) BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer